Kesler v. Jones:   Reading Comprehension Self-Quiz

(1) Who is “Kesler?


(a) Eva’s “Next Friend.”


(b) Eva’s owner.


(c) Eva’s trainer.


(d) None of the above.

(2) The trial court found which of the following to be true?


(a) Eva did not have intent to return. 


(b) The fox shot by Dr. Jones was one that had belonged to the plaintiffs.

(c) At the time of the shooting, Dr. Jones was unaware that the fox he shot had escaped from captivity.

(d) All of the above.
(3) The Idaho Supreme Court held that Dr. Jones killing Eva was lawful because:


(a) She was a wild animal.


(b) He was acting reasonably to protect Mrs. White’s chickens.


(c) He didn’t know she had escaped from captivity.


(d) All of the above.

(4) The long block quote on p.54 from 1 R.C.L. 1067 strongly suggests that the authors of that treatise were familiar with which case we’ve read?


(a) Albers.


(b) Manning.


(c) Mullett.


(d) Pierson.
(5) On the top of p.54, the court refers to the Mullett-Blackstone rule for escaping wild animals.  Why does the court not award the pelt to the defendant under that rule?

(a) The Mullett-Blackstone rule does not apply to domestic animals.

(b) Eva had animus revertendi.

(c) Eva had not returned to natural liberty.

(d) The Mullett-Blackstone rule does not apply to the facts of this case for the reasons laid out in Albers. 
�  Presumably Mrs. White would think of this as, “Dr. Jones in the Chicken Coop with the Shotgun.”  
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